1394/03/23 I SGrd- bb) s GG ol

L'bz élk.ﬂ- -).«\5 ‘Zl{bZ Ll Cj.&}ﬂ ¢arg(z)\.g\)z‘_;4ﬁlj
o Im(2) L 2z s eser 25w s Re(2) L 2z i Sidw (|2

A

Col oS [I] opian W3 T L 1y (1/y/7) [2 da exp[—(3 —4i) 2]

1 1 1
—d - c — b 1
75 2 V3
ol (a\v\f coslarg ()] « A & s 5
1 1 2
- d ﬁ C e b =
2 2 V5 V5
¢! (al.xf sinfarg(7)] (S s >
1 1 2
- d ﬁ Cc —_— b =
2 2 V5 V5
(ol plaS Re() iy 6 a2
1 2 1
S d S c - b :
2 3 5 >
el (:lu\f Im(7) (2 S s >
1 2 1 2
- d = - b 5
2 3 © 5 >

(B s g wbg(z) = coshz s (ol Llses g i g g anls

Jdes d s C w2z b opl>



5 o—=(m/2) <arg(z71?) < (1/2) € e oS K L1, [[ dz 27!/
Re(K) .35ime 0350 3,500 lasl & Sl tods S0 a0 oy (0 pls L

4 d 0 c 2 b 1

ol (=|.A§ IIIl(K) 4‘;% S Al BL

4 d 0 c 2 b 1

ho K b s 1y —(1/2) < arg(2'/?) < (7/2) L h(z) = 21/2
0558 4 oS 4y |y Lalise (g amino

YU ¢ amiaas b Ll g amiw

d}‘/c‘) d C""“"J/AS“""W':"

S sty osks asl LA S b Cod psge s i (6 Al o

Tl oS o2 L Jaseas 5

s
0 d — b =
c T 5

-
—~
—_
S~—
I
=
~
—~
(=)
SN——
I

o f(=1) = 00 b guS (s M6 S

2 sben b el g dsbaa [J2] < LTm(2) > 0] oies 2 &0
4&;2.:““‘/‘hgmfj 4C~w‘J¢¢cIHI(Z) = OJ"LS‘&»’ 4&%&4@‘/#
Al o gl 3 L U(,y) Sl VSl SlEe 2] =1 2 g

.x|z}5@ﬂij&5’%ﬂ9§5%yﬁx

Al 58 g

10

11

12

13



1394/03/23 I opd- 0Ly 5 SLl Ol
(ol 5 Wl 53 Sl s 3 5 s Siler b 10 Jols ploal ol
4 S i 5 SOl p el S Ol s ) 48 K1 i i
}54.'_3;,?,‘:, 0 p0i —1 CM’):U/ C.«Ls,a (0 pod +3C~.~):/ cw\.gjh 3yl Cawyd
S @6 Sl ikl 0 0,00 10 s pa 30 0500 0 et - bl i
acty oo | aalsenly Lo g o s gldens 55 ez ) gl

V) :<=U

oA Sl el

0 d}Mb/‘s OJ\A.:»

d/ c| bla

CEERE

2

3

4

5

6

7

8

9

10
z—1
11 f(Z)——lz+1

2V _ 2y
12 w<l’>y) = 7 tan 1 m




